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INSTRUCTIONS TO CANDIDATES
(Use only blue/black ball-point pen in the space above and on both sides of the Answer Sheet)

1. Within 30 minutes of the issue of the Question Booklet, check the Question Booklet to ensure that
it contains all the pages in correct sequence and that no page/question is missing. In case of faulty
Question Booklet bring il to the notice of the Superintendent/ Invigilators immediately to obtain a
fresh Question Booklet.

2. Do not bring any loose paper, written or blank, inside the Examination Hall except the Admit Card
without its envelope.

3. A separate Answer Sheet is given. X should not be folded or mutilated. A second Answer Sheef shall
not be provided. Only the Answer Sheet will be evaluated.

4. Write your Roll Number and Serial Number of the Answer Sheet by pen in the space provided above.,

5. On the front page of the Answer Sheet, write by pen your Roll Number in the space provided
at the top, and by darkening the circles at the bottom. Also, wherever applicable, write the

Question Booklet Number and the Set Number in appropriate places,

6. No overwriting is allowed in the entries of Roll No., Question Booklet No. and Set No. (if any} on
OMR sheet and also Roll No. and OMR Sheet No. on the Question Booklet.

7. Any change in the aforesaid entries is to be verified by the invigilator, otherwise it will be taken as
unfair means,

8. Each question in this Booklet is followed by four alternative answers. For each question, you are to
record the correct option on the Answer Sheet by darkening the appropriate circle in the corresponding
row of the Answer Sheet, by ball-point pen as mentioned in the guidelines given on the first page
of the Answer Sheet.

9. For each question, darken only one circle on the Answer Sheel. [f you darken more than one circle
or darken a circle partially, the answer will be treated as incorrect,

10. Note that the answer once filled in ink cannot be changed. If you do not wish to attempt a question,
leave all the circles in the corresponding row blank (such question will be awarded zero mark).

11. gzr ;lough work, use the inner back page of the title cover and the blank page at the end of this
oklet,

12. Depaosit only the OMR Answer Sheet at the end of the Test.
13. You are not permitted to leave the Examination Hall until the end of the Test.

14. lfa candid'ate a_ttempt.s to use any form of unfair means, he/she shall be liable to such punishment
as the University may determine and impose on him /her.
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No. of Questions/w¥=1 # dwur : 150

Time /¥4 : 22 Hours/qv2 S Tl Moyleg /U : 450

Note : (1) . Attempt as many questions as you can. Each queatio;l carries 3 marks.
One mark will be deducted for each incorrect answer. Zero mark will be
awarded for each unattemptod quostion. :

;ﬁ%m;ﬁhﬁmmmmmmmaaﬁwmm
g | SAE HERa IH_W OTHE

(2} If more than one altérnative answers seéin t approxima
to be
correct answer, choose the closest one. e

T o S T T WA TR 8- R o g

gl
1. AOOOrdmg to Fo;‘bc.a List of Billionairee 2017, the richest Indian billionaire 18
{1} Lakshmi Mittal ) ) Mukesh Ambanj
(3} Azim Premiji (4) Dilip~®hanghvi
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S.

(28)

Which State in India has been the pioneer in labour reforms?

{1) Rajasthan (2) Gujarat

(3) Madhya Pradesh | (4) Uttar Pradesh
e § w guw & wed § oW T o @ R

(1) ToEIH (2) T (3) weISRH (4) I 52

When was the First Industrial Policy resolution formulated in free India?
T Wi F yom aftents Ay B e d g w9 |
(1) 1947 {2) 1948 (3) 1949 (4) 1950

Who, among the following, had the shortest tenure as Governor of Reserve Bank
of India?

(1) C. Rangarajan (2) Bimal Jalan
(3) Y. V. Reddy (4) Raghuram Rajan
ﬁqﬁammmmh%w*mﬁmmmﬁ

(1) do TR (2) fowe S @) o Fo X (4) TG TH

How many countries are members of SAARC (South Asian Association for
Regional Cooperation)?

ﬁ(mmmaﬁmm)ﬁmﬁugmﬁ?
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6. On which date was theUumn Budget for 2017-18 presented in the Parliament?
{1) 1sat Febtuary. 2017 (2) 2nd February, 2017
(3) 3rd February, 2017 (4) 4th February, 2017
2017-18 &1 W IFRA woe Weg § 9 B ?
(1) 1 w@&8, 2017 ' (2) 2 walt, 2017
3} 3 w=l, 2017 (4) 4 S, 2017

7. WTO (World Trade Organisaﬁuﬁl was established in the year
T oRoNo (few s wien) few o § waie gan?

(1) 1994  (2) 1995 (3) 1996 (4) 1907

L

8, Whichaﬂeafdzeﬁﬂhﬁngitemumh@m“
: TWIEE 11 & pCxeentage of GDP i (a1
2016-17 in case of Central Government? S o

(1) Fiscal deficit " (2) Direct tax revenué

{3) Indirect tax revenue (4 Interest-payment

(28)
(P.T.0,)
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9. According to Economic Survey 2016-17, GDP growth rate in India was highest
in the year

(1) 2013-14 (2) 2014-15 (3) 201516 (4) 2016-17

e w30 2016-17 ¥ R, wra F shogodte g B T wAlfF &

(1) 2013-14 §  (2) 2014-15 7 (3} 2015-16 ¥  (4) 2016-17 ®

10. Which one of the following is not correctly matched?
(1) Rekhi Committee : Simplification of Export and Import Procedures
(2) Namjundappa Committee : Railway Fare
(3) Rangarajan Commitiee : Balance of Payments
(4) Goiporia Committee : Banking Service Improvements
St # 4 F9-a1 gakaa T 27
(1) Ykt wfify . Prafer ol st wEman R

(2) e affy ;@ A

11. The Agricultural Census in India is done at an interval of
(1) every year (2) once in three years

(3) once 0 five years (4) once in ten years

(28)
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wa # HR o e e & W A 27
(1} w o - | (2) 9 af # @& an
(3) ofe of & ww sw (4) 75 o § s aR

12. For the Financial Year 2017-18, which one of the fi '
ollowing as percentage of
GDP is likely to be maximum in case of Central Govemment?

(I} Revenue deficit (2) Effective revenue deficit
(3} primary deficit (4) Fiscal deficit

faﬂ*mai2017—1a%m%ﬁm%mﬂﬁnﬁﬁﬁrywsﬂas%m%
ST & w0 § waitd wt & oo 47

(1) e w1 (2) e T 9
(3) sl (4} TN wRT

13. On which date, the Union Budget for 2017-18 .
Jaitley in Lok Sabha? - was presented by Shri Arun

(I) 1 February, 2017 _ (2) 8 February, 2017

(3) 15 February, 2017 (4) 28 February, 2017

Fw fofr # f s ekt go af 2017-18 -

.- Ul : %a%m dree # Ay gy
(1) 1 w@&d, 201 (2) 8 vwl, qoiz.

@) 15 w2017 Wﬂn

(28)
(P.T.0.)
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14. For which income slab, income tax rate has been reduced in the Budget for

15‘

2017-18 7
(1) Between Rs 2:50 lakh to Rs 50 lakh

(2) Between Rs 50 lakh to Rs 10-0 lakh
(3) Between Rs 10-0 lakh to Rs 20-0 lakh

(4) Above Rs 20-0 lakh

2017-18 ¥ Wz § fra 7@ @ | ARER H X Fq Hi T 27
(1) 250 or@ ® 50 g ¥ ¥ €=

() 50 @@ & 100 T1@ ¥ % N

(3) 100 1@ ® 200 7@ A &% &N

(4) 200 W@ T ¥ FH

For the Financial Year 2017-18, which onc of the following items _is likely to be
maximum as percentage share of Central Government’s expenditure?

(1) Interest payments (2) Defence
{3) Subsidies (4) States’ share of taxes

ﬁﬂ’maﬁ2017-18%%@,ﬁnﬁ%#-mmmum%m%nﬁm%
w7 # watfm &9 @ 3efig R7

16. Which one of the following items is not taken into account while computing

(28)

current ratio?

: N O . Aahtar
(1) Sundry creditors .

3) Furniturﬁ [4} Bank overdraft
(
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o A & 7 Prefefee v F F R 9 e ewn 27

(1) Rfew SR (2) RRw R (3) Wi 4) ¥5 g
17. Which one of the following is not an operating expense?

(1) Officc expenses = . (2). Interest

(3} Selling overheads (4) Postage

Frafiifgs 3 ¥ ¥5-w1 Rawem sug 38 27

(1) FAe” 3 (2) =W (3) Ty JuReqm  (4) o% =¥

18. In calculating the return on sharcholders’ equity) fe denominator is
(1) equity capital
(2) preference capital
(3} equity capital plus preference capital |
(4) equity capital plus preference capital plus reserves

suafat € gra W AW, wm w9 4w fm 2
{1) wwm st
(2) sifemm Poft

@) ¥ 4k g (+) e g
(ﬂm‘{%ﬂm(ﬂﬂ&m@ﬂmu

19. Nct worth of the busmcss mcans
(1) equity capital "~
(2) total assets
(3) total assets mmus total liabilities

(4) fixed assets minus CUrTent Awees

(a8) C 7
(P.T.0)
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20.

Z21.

22.

(28)

=R ! {g Wiferad & FWE B

(1} W Ysh (2} F9 w0

(3) IO Wl — P QI (4) et et — =g FR
‘Higher the ratio, lower the profitability’ is applicable to

(1) gross profit ratio {2) net profit ratio

(3) operating ratio (4) return on investment
SN S, [ A, g &

(1) a1 SR7 ITTTE T (2) Y@ W 3 W

(3) TS A W (4) M w y=m w@

Given—Nominal valu;c of share Rs 10, No. of shares issued 10000, Total net
profit Rs 20,000 and Dividend paid 10%. What is Earnings Per Share (EPS) ?

(I) Re 1 (2) Rs 2 (3) Rs 3 (4) Nil

foqr 3—afq 1 TWITHT @ 10 To, W fd 7 o # @ 10000, T Y&
S 20,000 %o, T TR W 10%. W 3@ I ($odtowmo) F 77

(1) 1 %o (2) 2 ¥o (3) 3 %o (4) A

Dividing net sales by average debtors would yield

(1) acid test ratio (2} return on sales ratio
(3) operating ratio - {4) debtors turnover ratio
yg fEd & a2l | faRE # W W #n
(1) dfrg ¥td I (2) Tt W yem I
(3) whEe T (4) HER A AU

8
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(4} non-current assets and non-current liabilities
ﬂﬁﬂﬂ‘[ﬁiﬂﬁﬂﬁﬂﬂﬂﬁﬂﬂmﬂmm??
(1) W] wegfeat @

(2) W FfEt R

(3) 9] wfat 7 ey et 2

(4) =g Wi 7 h-wrg Rl @

24. The Howdﬁmdjaaaidtoha?c taken place when
(1} cash is paid to creditors
(2) cash is received from debtors
{3) machinery is purchased for cash
(4) in all of the above cases
PV F WG W AW W W R
(1) ¥R B A3 = Yy R s
PR E R S S
(3) Mo 3 Wit w7 A oy
(4) IR0, ot &,

(28) . 9
(P.T.0,)
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25,

26.

27.

(28)

Which one of the following is not an application of fund?
(1) Kepayment of loan

(2) Acquiring an asset in lieu of equity sharcs

(3) Redemption of preference shares

{4) Payment of dividend

frfifea & & # wr w1 I@m T 7
(1) 91 1 (EFYTaH (2) S AW F R WO W T
(3) ftprrr siw W fopir= (4) ST W YA

Which one of the following is not added to the net profit for ;:ompu'ung the
amount of funds from operations?

(1) Depreciation on machinery (2) Profit on the sale of plant

(3) Goodwill written off (4) Loss on the sale of furniture

mﬁmﬁuﬁﬁmaﬁﬁﬁqﬁﬁaﬁﬁﬁmﬂﬁaﬁwmﬁﬁ
Y I 27

(1) "l W o (2) e i fasft o @™
(3) waW @ T e 4) v T @ @M

When total sources of funds are more than the total applications of funds, the
net effect is

(1) increase in working capital (2) decrease in working capital
(3) increasec in total assets (4) decrease in total assets

10
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¥ P F FA aa, W F P IW@m A A o, O W gg o
(1) wwddia s & gfy (2) wreiEier {sft # wft
(3) = T F gfg (4) o g 4 s

28. Which one of the following is not a Cash Inflow?

(1) Purchase of fixed assets ~ (2) Sale of goods

(3) Issue of debentures . . (4) Sale of fixed asscts
Frafife 3 @ #17 dwg swate 7 27

(1) Tl werfe & @ | (2) W R fReh

(3) =t & P (4) =t gmfy # feh

- Ll

29. Given—Total sales ‘Rs 9,00,000, Credit sales Rs 2,-25.000, Total purchases
Rs 2,48,000, Credit purchases Rs 1,08,000 and Cash oPemting expenses
Rs 40,000. Cash frort opérafiotis witf b =« '™ "wssial T
(1) Rs 1,90,000 (2) Rs 1,30,000 (3) Rs 95,000 (4) Rs 81,000

G == R 5,00,000 %o, 3 R 2,25,000 %o, F H7 2,48,000 %o,

SUR #4 1,08,000 %o |
- ;wmmmammm.mmﬁmaﬂﬁﬁq

1) 1,90,000 %o (2] 1,30,000 %o (3) 95,000 % (4 81,000 %0
’
30. Which one of the following is an example of nor-GaSH¢ EXpenses?
{1) Depreciation (2] Wagee-and celaries

(3) Telephér}e eXpenses tAdmipjstrative expenseg

(28) , A
(P10,

[ ]
gcollegedunlas
India’s largest Student Review Platform

el



17U/101/24 Set No. 1

fraffaa & ¥ a9 T-UHg =@ & I RY

(1) & (2} Wl q@n o6
(3) ThHH =g (4) SRR 3
31. Which of the following curves is not U-shaped?
(1} Average fixed cost curve (2} Average variable cost curve
(3) Average total cost curve (4) Marginal cost curve
fra 3§ @ A-T TF U-THR W q@ R
(1) swa feR «rE T% (2) afteg el ST 3
(3) st g e (4) T T T

32. Which one of the following is the most effective instrument of controlling black
money in an economy?

(1) Demonetisation | (2) Depreciation of currency

(3) Devaluation of cusrency (4) Deflation
ﬁwﬁéaﬁh-mﬁmﬁmmﬂmmﬁﬁﬁﬁawmmmm
af= 7

(1) T (2) @1 ® P

(3) TG F1 I (4) FEERIA

33. 1f we exclude product taxes and subsidies, we arrive at

(1) gross value added
(2) gross domestic product

(3) met domestic product

(4) net domestic product at factor cost

12
(28]
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T w9 I gl T wied Wt wer &, @ & WW @ 2

(1) v g4 i3 (2) W W IR

(3) Y& W, I (4) GO W W g W, IR
34. Which one of the following is not a component of Bharat Nirman?

(1) Rural housing (2) Rural electricity

(3) Agriculture based industries (4) Rural telephones services

= 4 @ ¥-w wwa Ao w1 e o 47

(1) ofior ETE (2) Ttor ferggfaereor

(3) FR awener sei (4) wwfior qEENR &

35. RTGS stands for
(1) Real Time Gross Settlement
(2) Regional Teller Google Settlement
(3] Real Teller Google Settlement
(4) Rapid Time Gross Settlement

ARofosfioT@o B Awqd R

(1) Tvm T o e 2) e FeR T ARz
(3) fam e e Afeewiz (4) e Iem uiw e
36. Reserve Bank of India issues notes under which system?
(1] Maximum Reserve.Syetesa.. = (2} Minimeum Reserve System
(3) Fixed Reserve System #~Fremagjonal Reserve System
(28) "

P.T.0)
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37.

38.

39.

(28)

widg ford ¥ fra vl & sefe Tz ol =@ 27
(1) stftran #iy 9gfy (2) =AW F Ygh
(@) P = agi (4) U iy Tgh

Ordinal mcasurement of udlity is reguired in

(1) Utility Analysis - (2) Indifference Curve Analysis
(3) Revealed Preference Analysis (4} Demand Curve Analysis
IR % HH GEn AewbeH f STEwER

(1) Iqaifiar favstaor § (2) 7o 9% fawerew
(@) v aifer foreiwr 4 (4) w1 7% Reram 3

Price consumption curve of a normal commodity is

(1) horizontal (2) vertical
{3) negatively sloping (4) positively sloping
wh AW IR F e 9 9% @

(1) wfes (2) Featem

(3) HOTHF T T (4) GTHE @IS el

Which form of monopoly regulation is most advantageous for the consumer?
(1) Price control (2) Lump-sum tax

(3) Per unit tax (4) Both (2) and (3)

14
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e ven =1 wfter fgsw i % R gatfie aners 27
(1) g Faamr (2) wgE W (3) Wi w1 W (4) (2) T (3)

40. The slope of consumption function is known as
(1) aggregate consumption
(2} marginal propensity to consume
(3} average propensity to consume

(4} None of the above
I G F TR F FA TR

(1) S IO (2) dr Fudir wgfy

(3) afwa Twdm wafy (4) I § } w
41. The Classical Theory of Employment and Income assumes

(1) full employment (2) underemployment

(3) disguised unemployment ~ {4) overfull cmpioymcnt

e ve am w7 wikfga Rrgre Y youren &

(1) o qeem (2) e Famm

(3) YA AR (@) T TR B e Jem

42. The bank rate means the rate which the
(1) Commercial Banks pay on savings deposits,

(2) Commercial Banks pay on ém‘-rcnt account deposits

(3) Commercial BafiRECHATE  on ghori-term loang™
(4) Central Banl: charges. i rediscounting bills of exch

(28) 15 .
(P.T.0,
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a4,

(28)

P FadmAER

(1) aPRY &% =9d 99 W g &

(2) Tfrn ¥ g T T W W F

3) T & TN W W TR

(4) ¥ Fx Rfem R & 3 ® 39 §

The heart of Keynesian muitiplier 1s

9 & TUE B 5T &
(1) APC (2) APS (3) .MPC

High powered or reserve money in India includes
(1) currency with the public

(2) cash reaerves of banks

(3} other deposits and bankers’ deposits with RBI
{4} All of the above

3= gg1 vt a1 fod o 7 sl @

(1) ¥ % T R -

(2) & F e fod

0) fod &% ¥ vE R W @ & K T

(4) TR W

If regar .
uncgangcd, then the demand curve will be

(1) horizontal (2) vortical
(3) positively sloped

16

(4) MPS

dless of changes in its price, the quantity demanded of a good remains

(4} negatively sloped
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IR e F ofedd B owRd f v ok w i i
2 7 W i T R - —

(1) & | (2) wa
(3) FNHE TS TR (4) WS T AN
46, T]::;:iq:: used by codes to convert an analog signal into a digital bit stream is
(1) pulse code modulation (2) pulse swatchar
(3) query processing (4} queue management
W Roe f R iz S § st ¥ o ¥ go ovam P wR @
TH1% T Her W
(1) %% #te Wgdom ) =YW
3) ®& SR (4) T iz
47. An optical input device that interprets pcr;c}] marks on paper media is
(1) magnetic tape ~ (2) punch card reader
{3} optical scanners (4) OMR

(1) M= ¥y (2) o HE o (3) BT B () M oUW 030
48. Most important advantage of an IC is its -

(1} easy replacement in case of circuit failure

(2) extremely high reliability

(3) reduced cost

{4) low power consuge

- 17
(P.T.0)
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49,

50.

Sl.

(28}

@ ARoHlo F FAH TEwU AW ¥ T
(1) " Hear it feafa & M wiowame

2) siuw 3= Saudma

(3) *A frmr gamm @

4) T ofts 3o
Data division is the third division of a program.
(1) COBOL (2) BASIC (3) PASCAL (4) FORTH

——— Y At R @ g e R

(1) COBOL =il (2) BASIC #I (3) PASCAL 1  (4) FORTH I

Which language was devised by Dr. Seymour Aubrey Papert?

o BT e I F g fra ww w dAn e mar @i
(1) APL (2) COBOL (3) LOGO (4) FORTRAN

A program that converts computer data into some code system other than the
normal one is known as

(1) Encoder (2) Simulation (3) Emulator (4) Coding

Wmﬁm-m%mﬁkﬁgﬁﬁwrﬁﬁwﬂaﬁhmaﬁmmﬁ
HE I R

(1) TR 2) fraggiem @) TR @) fen

18
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52. A device designed to read information encoded into a small plastic card is
(1) Magnetic tape (2) badge reader
(3) tape puncher _ (4) card puncher
@%Wﬁmﬂ#mmﬁaﬂvﬁh%wﬁ
(1) e v | (2) ¥ = (3) 29 TR (4) € YR

- 83. A hybrid-computer uses a
analog signals.

(1) modulator  (2) demodulator (3). .modem - {4] decoder

fefrem e w@m ¥ wEn Rue § wRails 59 3w
s 3 welRy T I9gm

(1) PR E )RR W Q) RRA. 4 R w

54, A gmup‘cf magnetic tapes, videos or terminals usually under the control of one
et

to convert digital signals from a computer into

(1) cylinder (2) cluster (3) surface (4) track
SRR W G AR & Feromd B dn, Rl e e 4
(1) Rfers @) TR @R ¥

-----

(1) modulator  (2) modem (3) keyboard (4} plotter

e ol ® FH FQ I o g 2

hASER R G )
19 -

(28)
(P.T.0,)
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56. Codes consisting of light and dark marks which may be optically read is known
as

(1) mnemonics (2} bar code (3) decoder (4) All of the above
% 3N TR FE TR gz AR e R T @ T W W, w8
(1) At 2) ¥R HE (3) femi= (4) F90F i

57. A type of channel used to connect a central processor and peripherals which
uses multiplying is known as

(1) modem (2) network (3} multiplexer  {4) All of the above

wmmwmmmmmmﬂma%mﬁmw
3 2 B nefeTEn @ ITEW R R, FOFE AR

(1) WA (2) Iea* (3) WEdEtTE (4) I &l

58. The first generation of computers available was based on the bit
microprocessors
mmmmmq‘wmm—-ﬁamw
{1) 4 (2) 8 (3) 16 (4) 64

59. The complete picture of data stored in database is known as

(1) record (2) schema

(3) system flowchart (4) DBMS

< H I ¥ Wl o R F A

(1) e (2) whm (3) fFen "= (4) DBMS
20

(28)
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60. Wh‘ich one of the following is intended to be used in all applications runs on
mainframe computers?

B R W A A ot vt § ARl § 3 R s iy 27
(1) LOGO (2) APL {3) PL/1 (4) OCCAM

61. The value of x that satisfies the equsation = 2 o is
Xx-3 x-5 x-13

& & w4, S 9
S %3 %5 713 © v Fa t

(1) 1 (2) 3 (3) 2 (4) 4

62. ifu3=b+c,b2=c+a.c'2—a+b menmévaluenf 1 + 1 1
= : - — + —— i equal
to a+l b+l c+l

'\‘iﬁ'a3=b+qb2-c+a,c2~a+b s A ] 14
=c+a,c" =qa- +—
VS awl Bl T & wm

(1) 5 (2) 1 B - (4) 3

63. A businessman gives commission to his agent 4% u
) S commission to his ag %o Up to sale of Rs 1,00,000 and
S%% above it. If businéssman has given %s 5,925 as commission to hig 2 ar?t
then find the sale made by agent s

(1) Rs 1,35,000 (2) Rs 13;500 (3) Rs 136“‘606 (4) Rs 1,40,000

w S aw fiet & 100,000 % BETTEIE v W w5y
2%

e qar & AR =owi 3 gt #5005 %
A R T AR 228 T T R, 3 s g

(1) 1,35,000 %o (2) 13,500 & ~. (3) 1,50,000 %o 4 140,000
1IN, %o

(28) 21
(P.T.0,)

[ ]
gcollegedunlaa
India’s largest Student Review Platform

el



17U/101/24 Set No. 1

64, A work can be completed by 30 men in 10 days, then in how many days work
can be completed by 40 men?

w s 30 iRl gm 10 R & q@ W fer s R, @ @ AR F 40
sefmt g B BA d w0 Qo o feen Smm?

(1) 700 (2) 725 (3} 775 {4) 7-50

65. The perimeter of a triangle is 100 cm and its sides are in the ratio 1:2:3. The
area of the triangle (in cm?) is

@ﬁaaﬁwﬁﬁr1oocm%aﬂrmﬂﬁgwﬁ1:2:3%a§mﬁ%1ﬁgﬁ'ﬂ
ga%e (@ Fotlo #) B

(1) 10043 (2) 100415 (3) 10045 (4) 10047

66. 1f the ratio of the volumes of two spheres is 1: 8, then the ratio of there surface

area 18
2R A el ¥ TPl F S 1:8 B, 8@ I WaEl W FIE 2
(1) 1:2 (2) 1:16 (3) 1:8 4) 1:4

67. A man saves Rs 320 during the first month, Rs 36(? in Fhe second l‘f‘loﬂth,
Rs 400 in the third month. If he continues his savings in this sequence, in how

many months will he save Rs 20,000 ?

@ ) sy # 320 w0 wEwn ¥, fidw WA # 360 %o, T
%ﬁoﬂumﬁaﬁuwmﬂwwﬁmm%,ﬁ%ﬁuﬁﬁ%

20’.000 &0 'ﬂﬂﬁm?

(1) 28 (2) 25 (3 22 (4) 20

22
(28)
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68. '_I'l'}e average age of a group of 10 students is 15 years. When 5 more students
joined the group, the average age rose by 1 year. The average age (in years) of
the new students is

(1) 18 years (2) 17 years (3) 16 years (4) 12 years

10 86 ¥ % wqg 6 fwa Iy 15 3 dewm o € 5 N ow wfEfwm @
AR €, 91 ET 9y & ad o wg Wi @1 A4 o #i ofteg vy (af #) 2

(1) 18 3¢ (2) 17 = (3) 16 =d @) 12 =¢

69. A train passes by a stationary man standing on the platform in 7 seconds and

passes by the platform completely in 28 seconds. If the length of the platform is
330 metres, what is the length of the train?

@ 27 Weem W AR W aft B e 7 d%w F qweh R sk 28 v A
tm’ng@mﬂﬁ@ww%wﬁﬁmﬁm'mwt.maﬂm
w1 37 | |

(1) 118 m (2) 110 m B) 120 m @ 100m

70. Find the Comml.lﬂd interest on Rs lﬁ,mw_ﬁw rate of interest is 4%
for the first year, 5% for the second year and 6% for the third year

(1} Rs 1,5652  (2) Rs 1,3752 {8y Rs- L5752 (4) Rs 1.4650
10,000 %o ?W o™ A AR af Wﬂt o ad

¢, e a8 & R 5% B ok gdle af F R 6% 2 ———
(1) 1,5652 %o (2} A3ZZ2 %o  (3) 1,5752 %o 4) 1,4652 %0

71. The marked price of a radio is Rs 4
80. M%kampﬂ allows a discount of 10%

and gains 8%. If w allowed, W'Wnt
W % F 3% gew 480 %o 3 zwmmm-s08 :
u&@qﬁmaﬁ%mWwﬁhtwa%mmﬁl
(1) 20 @ - @ a5

(28) 23

(P.T.0)
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72. The mean of first 8 natural numbers is
WU 8 Wipfad wEaiail W e @

(1) S (2) 45 (3) 4 (4) 55
73. A work can be completed by 12 men in 10 days working 8 hours daily. Find in
how many days work-will be completed by 20 men working 6 hours daily

wma%:zmﬁﬂiloﬁqﬁaaﬂégﬁrﬁqwmﬁam_wm%,ﬁm
ffed 6 20 el 6 w2 wfafa #rf &% fF A & & @ = o

(1) 9 (2) 8 (3) 7 4} 6
3/2
74. The simplest form of (%] 18

5 372

l?'zg] F AT & 2

64

5 & 2 3 @) =2 @ =
(3 2 81 16

75. A fruit seller purchased 12 apples for Rs 100 and sold 10 apples for Rs 100. I,
he earned Rs 100, then find numbers of apple he purchased and sold

o a3 12 89 100 %o # 3@ R @ 10 ¥ 100 %o # fww fE aw
E:Iﬁamwoaom%,zhmﬁﬁﬁﬁmﬁaﬁﬁammﬁmm

76. The goodwiil brought in by new partner is withdrawn by old partners in their

(1) new profit sharing ratio (2) old profit sharing ratio

; 4] cuuall
(3) capital ratio S

24
(28)

[ ]
gcollegedunlaa
India’s largest Student Review Platform

el



17U/101/24 Set No. |

A i g wf e R e g R I 2

(1) 7 @ sw & (2) T w9 e &
(3) st % g & (4) SR~
77. In which of the following would an adjusting entry for depreciation be made?
{I) Cash Book (2) Journal (3) Sales Book  (4) Purchasc Book
ﬁqﬁ!fhaﬁﬁaﬁw—mwﬁm%mm%%qﬁmm%?
(1) %% @1 (2) e (B) H#T @1 (4) T @@
78. Receipts and Payments Account is _
{1} Real Account . (2) Personal Account
{3) Nominal Account (4} None of these
Wik @& e erar #

(1) araies & (2) e o maﬁ@aﬁm (4) 7 8 F5 off

79. Which one of the following is correct?
(1) Opening capital = Clnsihg capital + Kdditforial capitad — -~ Drawings - Profit
(2) Opening capital = Closing capital + Drawmgs - Additional capital - Loss
(3) Opening capital = Closing capital + Dramgs Additionar Capial — Profit

frfefen & ] f9-m 5@ 7

(1) e g5t = afRm 4 + e ot <y ~ o
(2) RIS Yot = SfOTLot + s — AR uh —
(3) s oft = oA Al STRIw — e g o

(4) T e = o O — o~ S Pl

(P.T.0,)
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80. Goods valued Rs 3,600 lost by fire. The insurance company admitted a claim for
Rs 2,000. What amount will be shown in Trading Account?

(I) Rs 1,600 (2} Rs 2,000 (3} Rs 3,600 (4) No amount

3,600 %o UeW F UW AW A W @ T Wy A FEH A 2,000 Fo H A
wer ) =R e # feed of Rerh s

(1) 1,600 %o (2) 2,000 %o (3) 3,600 o (4) = Ut 7
81. Provision for depreciation on fixed asset made in the Profit & Loss Account of

the accounting year will be deducted in the Balance Sheet from
(1) the book value of the asset concerned

(2) Wi markel value of the asscl concerned

(3) the original value of the asset concerned

(4) the inflated price of the asset concerned
mmmmmé@aﬁ%m-ﬂﬁmﬁﬁmaﬁwaﬁw
o S

(1) Teafid et % 9@ qed 9

() weafaq TfEmte & aeR e |

(3) g oty % SR 5 L

@) wafee o ¥ i ge

82. A B and C are partners sharing profits and losses in the ratic of 2:2:1. C
. retires. The new profits and losses sharing ratio between A and B will be

nga@m%aham-mﬁmﬁwzzzzlmwﬁmgwm
%mglﬁaﬁﬂ%ﬂﬁwm-ﬂﬁﬁmmaﬁmm

(1) 1:1 (2) 2:1 (3) 3:2 4) 5:3

26
(28)
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83. Profit on cancellation of own debentures should be transferred to
(1) Profit & Loss Account
(2) Profit & Loss Appropriation Account
(3) Capital Reserve Account

(4) Reserve Capital Account

A T & AT W FARa Fen ik
(1) s™-wft @@ | (2) sv-gf PareT @
(3) Y5t = @m (4) g3 s @

84. Profits prior to the incorporation are an example of

1) Capital Reserve (2] Secret Reserve
(3) Revenue Reserve (4) Statutory Reserve
e ® ud ¥ WM UF Javeter §

(1) Yot Fm (2) T8 ¥ #

(3) svm W W 4) dufiF T &5

88. Premium received on issue of shares can be used for

(2] writing &Trpremnm eXpenses

I

(1) payment of dividend

(3) payment of directoréces- {4} redemption of debentures

sl & faim W g = s e g

(1) @Y W & fg B F Hvergs

(3) T B ¥ grm F Wm%ﬂ'ﬁﬁ%ﬁﬂ%m
(28) a7 |
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86. The credit purchases of fixed assets are recorded in

(1) Purchascs Bouk (2) Cash Book

(3) Journal Proper (4) Sales Return Book

far wwfy =1 3un w9 sfciRed B I &

(1) ¥ & (2) ¥%5 o (3) e AW (4) fosht et =

87. The Statement of Affairs is prepared under Single Entry System
(1) to ascertain the capital on any date
(2) to ascertain total value of various assets
(3) to ascertain the amount of various liabilities
4) to ascertain the financial position of the business
el yRf ozt § Rl fawm dam e s @
() frh ffy w 4ot s % feg
() fafim et &1 Fe 79 I & for
(3) fofiw el & g i IR F KT
() e i fefa ek w4 & fom

g8. In case of a firm's dissolution, the balance of Realisation Account is transferred
' to Partners’ Capital Accounts |
“.] n capita\ ratio (2) ﬁqu&lly
(3) in profit sharng ratio [4) in partners’ loan ratio

28
(28)
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ﬁ*%ﬁﬁﬁﬁ.%ﬁm@ﬁmhﬂmﬁ%ﬁé@ﬁmﬁm

s 2
(1) sh argum # (2) TR-TOR
(3) ™ R U # (4) TR % T F g §

89. By forfeiture of shares is meant

(1} cancellation of shares

(2] seizure of shares

{3) imposition of fine for late payment
(4) underwriting of shares -

W W W R A R

(1) ol W P
(2) ot s wow
3) Fera 3 YW T W 8 W YEYR
(4) It + Fieiw

90. Which Account has a credit balance?
(1) Carriage Inward (2} Carriage Qutward
(3) Return Inward | (4) Re;rTOutward
f&m 3@ & s Sy wa g7
(1) 3=® M e | {9) Sl v
() Fer - (4) ®9 S
28 =

P.T.0)
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91. Which one of the following is not a form of business organisation?

(1) Sole Proprietorship (2) Partnership

(3) Charitable Trust (4) Joint-stock Company

Brafefan § @ 7 UER G @ TG T 27

(1) T WOR (2) SRl (3) =Y T 4) §IH W9 T

92. The Indian Partnership Act was came into force from the year

wRdly aed sftfem g ad & e gen a?
(1) 1932 (2) 1940 (3) 1948 (4) 1956

93. Social responsibility improves

(1) public image of business (2) product quality
(3) managerial efficiency (4) managerial control
arTfE R & QO R
(1) waEE # AFBE (2) 3% I ORI
(3) VEPUhIY 2T (4) YauHE FaEm
94. Which one of the following is related to 50&1 sole trading and p_artmrsh'ip?

(1) Direct motivation (2) Unlimited liability

(3) Mutual agency (4) Full control

30
(28)
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ﬁﬂ%ﬁaﬁﬁaﬁa—mmw@maﬁaqﬁaj?

(1) w4y safsron (2) e o

(3) reEfen 3oy {4) qof Freem
95. In company, risk i‘s borne by

(1} Directors | (2) Shareholders

(3} Creditors of Company {4) Managing Director

Fdt § MR z2m o B3 #

(1) G9o (2) ferurt (3) T & SRR (4) TIY TUEE
96. Restricting the, transfer of shares is a featurc of . 1

(1) Public Company (2) Stibdidiary Company

(3) Holding Company , (4) Private Company

A F TN | YRy w e

(1) Feefs Tt &) (2) T

(3) T w0 {4) el woelt o
97. Procedure for transfer ql' shares in contained in

(1} Articles of Association | (2) Memorandum of Associatio

n
(3) Prospectus in li ‘
. (4 Btatement in_lieu of Prospectus

A F weawr B il sk g

(1) N R 3§ (2) Wiz Hmfy 5

(3) i # (4 IR 3

| R L. 3
28) 31
P.T.0,)
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98. Direct motivation is related to

(1) sole trading (2) partnership

(3) public company (4) holding company
T i w8
(1) W m & (2) | A
(3) Ed F (@) g FA A
99, Registration of Cooperative Society is
(1) compulsory  (2) optional (3) essential (4) unnecessary
- TEFR wfe F1 g

(1) siPEr 2 (2) dfcaH R (3) FUEEF B (4) IEESF 2

100. Diesel Locomotive Works (DLW) is an example of

(1) Public Company (2) Public Corporation
(3) Departmental Undertaking (4) Government Company
Ay iR T (SolHoga) Th IR R
(1) I FE W (2) &% M H
(@) Rpamfra ITH (4) aTHE FEH] H
101. Bill of Lading is issued by

(2) importer
U" expﬁ!'ter

(3) shipping company m €Xporters agent

32
(28)
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(1) Fafas g - (2} R gR
(3) @t FPE grr (4) Fmias & il g
102. Which one of the following is an auxiliary export documecnt?
(1) Commercial Invoice (2) Bill of Exchange
(3) Certificate of Inspection (4) Proforma Invoice
i & & SF-m e fats wor 42
(1) A e (2) fafrm famw
(3) Ffterr & sy (4) 3Tare e
103. Special Economic Zone has been created to
(1) encourage export (2) encourage import
(3} encourage free trade (4) cncoure;ge domestic trade
feite anffes @ %1 o fasar e 8
(1) fFaia Seme ¥ fag (2) s e ¥ g

(3) I% =MW F T F R (4) & =R % T % R

104. General principle of insurance includes
(1) utmost good faith 12} insurable intelicst
(3) contribution S ~44)_All of the above

(28) o3
P.T.0,
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am ¥ e fagre o wferfaa R
(1) T wgawEd (2) dm AmfRa  (3) AR (4) 3w aft

105. Partner and firm are mutually related to

(1) management (2) servant

(3} agent (4) shareholder

e ol o W R Fe B R

(1) Ve (2) ¥IF HI (3) W= (4) ol

106. Which one of the following is a part of controlling process?

(1) Setting standards (2) Searching alternatives
(3) Awareness of problems (4) Division of work

fr & @ wa-a1 A ghen @ R 7

(1) 9H® YA ) fei ® Fon/Ew
(3) Tt @ I B (4) e Favee

107. Which one of the following 1s related to both planning and control?

(1) Example (2) Observation

(3) Budget | (4) Audit

ﬁqﬁlﬁﬂﬁﬁﬁﬁﬂﬁ@m@ﬁﬂﬂﬂﬁﬂm%?

(1) JE (2) A (3) & (4) STHE
34
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In how many parts Fayol’s administrative functions are divided?

%l 3 yeERs wE w e wwl R e
(1) 4 2) 5 3 7 4 3

The term ‘Mental Revolution’ was coined by

(1) Herzberg (2) Henri Fayol (3) Maslow (4) F. W. Taylor
A Ff #it smuren &

(1) wefeef gro (2) ¥ S g

(3) =R gRI ([4) To oo I G

Which one of the following is not an element of planning?

(1} Principle (2) Objective (3) Policy (4) Strategy
frddsh P s w7
(1) Rgra . (2) R (3) Hifx (4) R

A plan when expressed in quantitative term is known as

(1) process (2) objective (3) pelicy (4) budget

@ A H e = v e 2, @ @ o e 8

(1) i 2) =7 - (3) Hfa (4). CEr
35

(P.T.0)
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112. Father of Management by Objectives is

(1) Henri Fayol (2) F. W. Taylor
{3) G. R. Terry (4) Peter Drucker
g ga vy % R €

(1) &8 S (2) o T T
(3) o AW 2 (4) diX g

113. Which is the highest form of Democratic Organisation?

{1) Line Organisation {2) Line and Staff Organisation
{3) Cuvnuiitlee Organisulivi (4) Punctional Organisation
F goR A ewaiEE e 87

(1) @ wA _ (2) @ W@ FHEE T

(3) Winfd T (4) fraems wed

114. Measuring actual performance with the planned performance is the
subject-matter of

(1) policies (2) organisation
(3) control {4) span of management
ares & T P wH H oA e R
(1) ifeat = (2) WA # |
(3) P = (4) T & TR

36

{28)
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115. Delegation of authority means

(1) transfer of authority only

(2) transfer of responsibility only
(3) transfer of authority and responsibility both

{4) transfer of authority, responsibility and accountability
AR e § v R

(1) Faet JRHR F1 3=w0T

(2) Fa IR = ,
8) PR & s I = s

(4) AFR, SR @ FEERTE W S

116. Which one of the following is not related with Job Analysis? -
(I) Interview Method {2) Point Method
[3) Questionnaire Method (4) Observation Method
e 4 o v Rt @ wafu 7@ 27

(1) marem Ry 2) A AR (3} vemaeh B (@) EeE AR

117. The method applied to know the need for traiming is

(1) job evaluation (2) performance appraisal

(3) SWOT analysis (4} personnel review

SR SAEEE W T W A R

() 74 g () Wﬁm_mw () W% ey

(28) o 37
(P.T.0)
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118. Who propounded the X and Y theory of motivation?

(1) Vroom (2) McGregor (3) Urwick (4) Maslow
Ffron ¥ x aw v figra w1 wRuea few famar a@n?
(1) %7 (2) eI (3) FF (4) dealt

119. Breakeven analysis is a technique related with

(1) planning (2) staffing (3) motivation (4) control

gufa=dz faveru adie wwiiea B
(1) frd=m 3 (2) @fen | (3) Afrron A (4) w2

120. Highly democratic motivational theory is

(1) hygiene (2) participative (3) X | (4) Y
ARy @ fugr 9 T aEtE 2
(1) (2) wriard (3 X (@ Y

121. Which of the following is not a part of Financial Market?

(1) Capital Market (2) Commodity Market

(3) Money Market (4) Secondary Market

ﬁqﬁ%aﬂqﬁ?ﬂawmm?ﬂ%?
(1) g e (2) %] ISR (3) TH ISR (4) fods aew

38
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122. Which of the following is not a speculators in the stock exchange?

(1) Broker (2) Bull (3) Bear {4) Stag
Frafefen & @+ =u fofy & wjae T 27
(1) e (2) I @ (4) S

123. Money Market deals with

(1} long-term funds SR - mediunl-ff_rm funds
(3) short-term funds (4) Government funds
T a9m fred ww dier a €7

(1) dewei ffY (2) FerwrEie

(3) e fify (4) @i ffY

124. The maximum period of maturity of capital market instrument is

{1) no limit (2) 3 years (3) 364 days (4) 20 years
it st T ¥ ofemw B sl oy 2
(1) & @ (2) 3 = (3) 364 fA @ 20 af
125. Out of the following, which one is not a capital market instrument?
(1} Equity shares (2) Preference shares
(3) Bill of Exchange (4} DeBenture
(28) . 39
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Praffea & ¥ B ol a9 e T8 27

(1) w@t 3 (2) sftem s (3) Fafma B (4) IR

126. The public subscription should be kept open for minimum of

(1) 3days ~ (2) 10 days (3) 15 days " (4) 30 days
A STER ® H-U-T feod R F R gen e R
(1) 3 R (2) 10 & (3) 15 f& (4) 30 T

127. In which year National Stock Exchange (NSE) was started?
g 98 JyAE wis s (NSE) YR g3 917

(1) 1990 (2) 1991 (3) 1992 (4) 1993

128. Sub-brokers are appointed by

(1) brokers (2) stock exchange

(3) clients (4) companies

wa-sw P B g o 7

(1) (2} wu faufr  (3) TS (4) F

129. Which one of the following is not an institutional investor?
(1) Foreign Individual Investors (2) Mutual Funds

(3) Insurance Companies (4} Foreign Financial Institutions

40
(28)
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et & & A voww Al T8 27

(1) e Pkt B (2) HYHA T8

(3) i wofi (4) el R dvurd
130. Stock Exchange is a

(1) -State subject (2) Central subject

(3) Regional subject (4) Corporate subject

WY facfr @ o

(1) 7~ feg (2) H5E fawg

(3) &tw fawg C (4) P et Ry
131. By whom the Chairman of SEBI appointcd?

(1) Stock Exchanges - (2) Reserve Bank of Indig

(3) Central Government (4) Mutual Funds

T & e D Pafs ek g A 47

1) wu faafy (2) ey TS B

(3) ¥ FER (4) YT vogw

132. The National Securities Depository Lititteod {NSDLy was established ;
. i o i o th
T Refd fedifed ffdls (NSDL) #r wim e W o7 -

(1) 1986 (2) ‘1995~ (3) 1999 4) 2002

(28) ‘ 91
(P.T.0,)
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133. Where is the recognised Stock Exchange located in Uttar Pradesh (UP) ?
(1) Lucknow (2) Kanpur (3) Agra (4) Ghaziabad
s e § Are wm e Rk we o R
(1) ¥&Ts (2) FAE @) s (@) TR

134. Ncw Issue Market is an integral part of

(1) Stock Exchange (2) Capital Market
(3) Both (1) and (2) (4) Money Market
T foim w3 3

(1) ===u Fufo & (2) st AR
(3) (1) @ (2) & (4) T W F

135. SEBlis a

(1) Regulatory Authority (2) Statutory Authority
It 2
(1) FRm® iR (2) Aty iR
i 4 iR
@ o) @ @ & @) TR
42

(28)

[ ]
gcollegedunlaa
India’s largest Student Review Platform

—



17U/101/24 Set No. 1

136. Reverse Repo is a tool used by RBI to
(1) regulate liquidity ratio
(2) absorb liquidity
(3) increase the liquidity with banking systoin
(4} keep the liquidity at one level
RBI fad Y0 7% o &1 v —— ¥ Rye w )
(2) W S (2) w (%) Femn
(3) S sgaR W o W (4) T W & W 7w

137. What is Repo Rate?

(1) tis the rate at which RBI sell Government secunities to banks

{2) 1t is the rate at which RBI | Hin .
securities + lends short-term moncy to the banks against

(3) It is the rate at which RBJ allows small loans in the mark t
3 e

(4) 1t is the rate which is offered by "bani{é tt; their -mu‘rst

= valued ¢y
v ilck R T womers.

mnwutﬁﬁmunm% |

() T T T § Pt ST S T v

(@s) 43
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138. When demonetization happened in India in 20167

(1) 8 September, 2016 (2) 8 October, 2016
(3) 8 November, 2016 (4) 8 December, 2016
2016 § WA # Taggdew ®a g’ ' |

(1} 8 =, 2016 (2) 8 ¥R, 2016
(3) 8 T@WR, 2016 (4) 8 Rew, 2016

139. How many banks were nationalised in the second phase in 19807

1980 & i T 0 fhdaR ol 1 OUEART g3 A

(1) 5 (2) 6 (3) 7 4) 8

i isms, can funds be moved from
140. In which of the following fund transfer mechanisms s

one bank to another and where the transaction is settled instan
being bunched with any other transaction?

j dF 4 & I W
ﬁﬁﬁ%ﬁﬂﬁﬂmmﬁﬁﬁﬁ@ﬂ@%
%ﬂmﬂm@im%mwmﬁmmmﬁwm
27

3 T - (4 EFT
(1) RTGS (2) NEFT §

& used for
141. ‘Smart Money 18 & term

) internet Banking (2) Foreign Currency

(4) Demand Drat
(3) Credit Card

44
(28)
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TR e o —— @ R
(1) weee & (2) R gz (3) #fz = | (4) Rare 3w

142. Which one of the following rates is not controlled by the Reserve Bank of lndi‘&?

(1) Cash Reserve Ratio - (2} Statutory Liquidity Ratio
(3) Cess (4) Repo Rate
'ﬁﬁﬁqwaﬁﬁémmm‘hmﬁ#ﬁawmmﬁ?
(1) smitgm wd) Bl sum '{é) wiffes Wiy oy
(3) v ) W R

143. lnterm}ﬁonal Standards on Combatting Money Laundering and the Financing of

W g e &l Lc AR Thyo

f ._,_gw HHG
L o Fred grr &am T o #7 il .
(1) Kye {2} FATP {3) TAPE {4) ICOA

144. RuPay Card is issued by
(1) State Bank of India
(2) National Payments Corporation of India

(3) Reserve Bank ot India

(4) National Securities Depositoey Limited.-

. ——

(28) 45
(P.T.0,)
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w1 FE st fen 9w @

(1) W B2 9% g0

(2) W TR e T g

(3) vd fd o= @

(4) w Rt Rkt ffe g

145. AXIS Bank was formerly known as

(1) YES Bank (2) UTI Bank

(3) City Union Bank (4) HDFC Bank
offtg dF @ 0 I S |

(1) T8 &% (2) Fodlo3mo &

(3) R g % | (4) TR oTFoHo T

146. Which one of the following is the purpose of introducing ‘ Know Your Customer

norms by the banks?
(1} To bring more and more people under the banking net

(2) Identifying people who do not pay income tax
(3) To ensure that the money deposited in banks has come from genuine

SOUICes

(4) None of the above

46
(28)
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mﬁammammmﬁm'mwﬁwn
(1) A & e <t = $fF 32 ¥ srde @
(2)m@ﬁﬁmmaﬂmwm=rﬂm§
(3Jaagﬁﬁamﬁ:ﬁimﬁmﬂr3ﬁamﬁmﬁﬂit
(4) 3% ¥ q = 7

147. The headquarters of Export-Import Bank of India is situated at
(1) Lucknow (2) Bengaluru  (3)'WusiBar 1Ay Newik
W Fafa-smm 8 w0 e R @
(1) o i () g § (3) g=g | (4) Tl

148. ‘Legal Tender Money’ refers to

(1) Cheques (2) Drafts
(3] Bill of Exchange (4) Cur:n;:ncy Notes
Taftmr o g & gy
(1) 9% (2) g O Pl ) g
149. Which one of the folloﬁﬂﬁwmmh " |
Government and or the RBJ ? . adopted by the
{1) Monetary policy ) (2) Fiscal ﬁ;}iq |
(3) Financial inctiston (4) Price cortrroy
(28) 47
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150.

mﬁﬁﬁmmmmhmm@ﬁ@ﬁﬁﬁamwm
T 27

(1) @Ew AHfa (2) T A (3) farfa EwRYA (4) qea TR

Which organisation issues Monetary Policy in India?

(1) Parliament (2) Reserve Bank of India
(3) State Bank of India (4) Ministry of Finance
wﬁwmmmﬂﬂ:—zﬂﬁwma?
(1) q8¢ ) W fed a4
(3) W R 9% (4) T s
"k
48 D/7(28)—10000
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